W79 =h)LT—74 / Technical Datall
#E{TRILY / Recommended torque : 0.3N*m ~ 0.6N*m

=

%
N— >
B view
BIZFE / Product Number
AUH - -
H-Tik Wtk D~Hik NURILEAT (N / K) Btk
H dimension W dimension D dimension Handle type (P or H) Color Type

INUERJLAERR / Handle type

A A
0

E $E4E / Normal type $##4% / Key—-lock type

& 1t#k / Color Type

i85 / Code | a—+—7'0v% / Corner block {8I#R / Frame

$/8— / Top cover

BARFH/Y— / Open—closing panel

S s < JLsN— / Silver < JL7s3— / Silver

< JLsN— / Silver

< )L7s3— / Silver

S B 75v% / Black 2 )L1N— / Silver

2 )LsS— / Silver

< JLsN— / Silver

HERINZ / Components

No. %A FR / Part name #E / Pcs #E / Material & - KM / Color-Finish
: a—r—Jovy 4 TIVEF 1 Fv X+ ADC12 DILIN— TSy - (RNEREILE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) IR 4 TILEIRHE# A6063S-T5 DILN— - TILIANY T B
Frame Extruded aluminium A6063S-T5 Silver = Anodized with clear coating
3 FBAN/N— : 7 IJLEHR A1100P DILIR— - TILIAh
Open—closing panel Aluminium A1100P Silver * Anodized
4 Th— : 7 JLEHR A1100P DIIS— - TILIAH
Bottom cover Aluminium A1100P Silver * Anodized
5 FENUFIVEBE / BE 1set T A Fr R DILIN— - B
Flat handle (Normal / Key lock) Diecast zinc Silver = Painted
6 v {set WEAT A F v b D2IZACER 3
Hinge Diecast zinc Silver = Painted
; ER{FE R (M3 x 8) 1 % =TIV AYE
Screw (Flat head M3 - 8) Steel Nickel plated
8 BAER (B#M3 x 5) 4 % =yl ILAYF
Screw (Trapezoid head M3 - 5) Steel Nickel plated

7
& 8
3
5
, 2
[ 4
4
a
4/ Title
TAKACHI| BXESH4hFERIE B 7L Iavra—ILRYSR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing aluminium control box
52/ Approved #%[X/Checked &[] /Created I Z /Product number RFE/Scale
iR 3 S AUH99-16-2001 011 R
{ERX B /Date 2025/07/01 1/ 6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

200+0.5 (r— R4\ # / External)

A-A (1

:45)

153
E view
A view

l— B

“

F view

B
B

I B

16005 (r—A 4 iz / External)

C view

99+0.3 (y—RA4\ 2 / External)

B view

B
-

B-B(1:45)

193

BASHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
B 7I/L3arkO—ILRy IR

Open-closing aluminium control box

o]
<L

A& 3/ Approved

iR

#%[X/Checked

£

#1[X]/Created

fi] A

R /Product number

AUH99-16-200J 0101

RE/Scale
1:4.5

YERLH/Date 2025/07/01

~R—/Page

2 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥R / A Frame

110

98

14
7o)
4

M@ / Front side

B {Al#R / B Frame

2-M3FH SN
2-M3 Countersunk

X xmE+E E4HE / Same on the other side.

)
Ny

73\
NV

M@ / Front side

91.7

22.5

2.5

3.3

3.3

ZEM / Back side

M / Back side

4/ Title
TAKACHI| BXESH4hFERIE {84 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:2
iR £ FiE:N R—/Page
H99 — W160 {ERX B /Date 2024/07/25 3/ 6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

150
[eo]
(=]
<
- 72\ 72\
[\ \\“/1
5 2-M3FHSR 5

2-M3 Countersunk

¥ XEEEHE / Same on the other side.

M@ / Front side

D {81#% / D Frame

7o)
)

M@ / Front side

91.7

22.5

2.5

3.3

3.3

ZEM / Back side

M / Back side

4/ Title
TAKACHI| BXESH4hFERIE {84 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:2
iR £ FiE:N R—/Page
H99 — D200 {ERX B /Date 2024/07/25 4 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

130

4-R14.7
o)
<
g B

@ / Front side

H#~Ti% / Max dim. 113+0.3

E#~ti% / Max dim. 153+05

4-04.5

fREES — A

Surface protective film side

ZEM / Back side

4/ Title
TAKACHI| BASHIAFEHRIE THhi— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:2
iR £ fiE) A ~R—/Page
W160 — D200 {ERX B /Date 2024/03/29 5/ 6

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




188

148

130.6 17.4
L
[e>)
< 26.25 30 oo
o
(o)
[e0]
oo
2-R14 175 B%h~ti% / Max dim. 111+0.3

RME / Front side

25.7

136.6

25.7

E#~ti% / Max dim. 1563+05

©o

ZE[H / Back side

4/ Title
TAKACHI| BXSHANFEMTE BSRRA/ S— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing panel
A& 3/ Approved #%[X/Checked &[] /Created I Z /Product number RE/Scale
1:2
iR £ fiE) A ~R—/Page
W160 — D200 {ERX B /Date 2025/04/25 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






